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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
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x

X 4
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Question ID : 9864493080
Status : Answered

The value of g on the moon is 1/6™ of the value of g on the earth. If a man can jump 1.5 .
m high on the earth, on the moon, he can jump up to a height of: Chosen Option : 3

Ans '1 4.5m

4.5m

Jz.g :
 om

3_6:112?

Hfm

75m

Q2 48 }ﬁ'{ 54 &Rl of. 4. 4T %’7 Question D : 9864492822

The LCM of 48 and 54 is:
Ans 1. 6x8x0

Status : Answered
Chosen Option :1

X 248 x 54
X36x2x%x09
Kaexgx3

Q3 30 B 7 997 1 3 HAZ T gEfea Flﬁ %’I Question ID : 9864493659

Status : Answered

A

F

1

2

Z E I Chosen Option : 2
4

3

Select the figure which does NOT belong to the group,

A

Z|E]

1
file:///sysroot/ho :

™ Download RRB Exams PDF E-BOOKS

1/25


career.aglasem.com/railway/
https://rajhindinews.com/
https://career.aglasem.com/
https://rrbexamportal.com/study-kit/rrb-technician
https://rrbexamportal.com/ebook

9/14/2018

Ans

Downl oad RRB ALP TECHNPFTYAR Exam St udy Not es

Vi
X 21
X3
X2

Q.4

Ans

T § & B Faw F PR T e § o s At w statEe
FTAFFANE?

In which of the following tissues are the cells living, elongated and irregularly thickened
at the corners?

AT

Parenchyma

TFoI{ARISAT

| Sclerenchyma

TIARIEAT

| Aerenchyma
HToIAHIZAT

| Collenchyma

KoL

X2

X3

v

Question ID : 9864493215
Status : Answered
Chosen Option : 4

Q5

6% SO WIEROT S % & W U e 6 auf 3T T 834 g A §1 9T ¥
At & a5 ufer Far o

At 6% simple interest per annum a sum of money became ¥ 834 in 6% years. The sum
initially invested was:

Question ID : 9864492707
Status : Answered
Chosen Option : 3

Ans  of 1 T 600
< 23626
< 3.3 675
< 4. T 650
Q.6

fr=faf@e = o &1

XIGP : 172716 :: ZHEJ :

Complete the following.

XIGP : 172716 :: ZHEJ :

Question ID : 9864494090
Status : Answered
Chosen Option : 4

file:///sysroot/ho

Ans 1191601
# 2191501
< 2191511
v 4191510
Q.7

(

Question ID : 9864492505
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FT HIEAT TG o T[0T T 5000 T AT g1 T Het I HeT T 50
AR v Ul T Ho T 40 31 TG T ST T T T A T HEAT F A
A ST

Vishnu spends ¥ 5000 in buying 12 tables and some chairs. The cost of one table is T 50
and that of one chair is T 40. What is the ratio of the numbers of the chairs to the number
of tables purchased?

Ans X 1.5:2
v255:6
<35:1
K 455:4

Q.8 ursw A fartlr s17 gu &F &7 28 €€ & T T FHAT g, FaH ST B I
Trel & F 35 ©E H o WA g1 W A FA F G, IFOTF 9 ¥ &F
T f9 W FR TET A 3R B F T F 95 U, T ©e & v e @
o ST E A ¥ T e F e me e Chosen Option : --

Pipe A can empty a filled tank in 28 hours while Pipe B can fill the same tank, when
empty, in 35 hours. If alternately Pipes A and B are turned on for an hour each time,
starting when the tank is full, how long will it take to empty the tank?

" 279
279 hours
271 T
271 hours
275 e
| 275 hours
1280 T

280 hours

Question ID : 9864492871
Status : Not Answered

v &3

X 3

p

Q.9 o # ¥ =7 ¥ #ifa=fael & 3cwe=s a1 (Buoyant force) & 3&aea T
T #r?
‘Which of the following physicists explained the existence of Buoyant force?

Ans E:nmsr
v L

Archimedes

o g TRl

| Blaise Pascal

AEH IFTEEA B Horra
Charles Augustine de Coulomb
 HESAF FgeA

4. LY

Isaac Newton

M er=-) T &g dr 'x':l(_-l'g]?:r YAl %'7 Question ID : 9864493508

Status : Answered

Question ID : 9864493419
Status : Answered
Chosen Option : 1

X2

X3

Which of the following is a surface phenomenon?
Ans EERGI
p 1

Chosen Option : 1

‘Boiling
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2

| Melting
TSR LoT

| Evaporation
~ SAHHAT

4.
Freezing

V3

Ql zx FEr # T W A AT ag ¥ wET 4@ E

Question ID : 9864494007

71, 73, 77, 79 Status : Answered

Chosen Option : 4
Select the number that does NOT belong in the following group.

71,73, 77,79

Ans X1 79
<271
<373
v 477

Q12 37 oy &1 Tgw L S A RE e vy ¥ wefa a6 e Question ID : 9864494032

Status : Answered

. . . Chosen Option : 4
[ o e

> ||l

A B C D

Select the figure that does NOT belong in the following group.

o@ 'QO .EI. .E.
Ans ?‘?LA i :

X2B

vsC

X 4D

Q.13 2017 # vfvas Afger FaFaret TR i AzEEr FHa & v F F o,
S s & wfaftea gerasr 3 17 F @07 w5F S

Which country hosted the Asian Women's Boxing Championship in 2017 when India’s L
iconic boxer Mary Kom won gold? Chosen Option : 3

Ans ﬁ'ﬂﬂ?lm'
L

Question ID : 9864492239
Status : Answered

Vietnam
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4.
Japan

Q.14 37orr =57 o A o Torw o= Tofa & @ v woe 31 2T o7 waiieT forar S
Which of the following type of medicine is used to treat indigestion?

Ans x HERT ST
1.
Sulpha drug
X 2 e
Antihistamine
X3 CILIRUES
Antibiotic
v SR
Antacid

Question ID : 9864493149
Status : Answered
Chosen Option : 3

Q.15 fow =17 37 3@ F B T T 37 @En w7 AR = @ S Fagg

. fr e ¥ ok Y Question ID : 9864493768
AT HEale Solent ?

Status : Answered

Kabaddi

Chosen Option : 3

P Q R

4 T u

Football | ¥

Cricket

-FootballGealer -Kabaddi  &assl -Cricket  fithe

In the given Venn diagram which letter represents all those who play Kabaddi as well as
Football and also all the three games?

Kabaddi

P q R

s T u

Football | ¥

Ans 1 g+v
K2 s+T
v 3 s+Q
X as
Q.16 =ix @1 wiaw forret affeaTg & Sh-wasd &n we = ‘affe wearsr

. uestion ID : 9864492310
g, #1 TgEd Ao &2 °
Status : Answered

Which famous cricketer co-owns the Pro-Kabaddi team from Tamil Nadu named ‘Tamil i
Thalaivas’? Chosen Option : 3

. TaArel ISR
X
Sunil Gavaskar

T =
~ 2
Ravi Shastri
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FEUTATINT ST

< 3
Krishnamachari Srikkanth

v 3

Sachin Tendulkar

Q.17 s % wisEr freg & 30T S P ¥ T U ToAws WEE &2

India’s current finance minister Arun Jaitley is a Rajya Sabha member from which state?

x

Question ID : 9864492268
Status : Answered

. Icdd QEQT Chosen Option : 4
Uttar Pradesh

g

| Haryana

X 3
Punjab

e
v
Gujarat

Ans

X2

Q.18 ey ity fidhr % 3HT # 5 I F AT gl 35 I Tgel 9 A Fr AT FI
o 30 §AF e & 37 1 9R I, U6l F 57 F 5 A & AL =l ToAT

# =T & 33T F T ¥4 37 Status : Answered
Chosen Option :1

Question ID : 9864492732

The difference between Peter and Preeti’s ages is 5 years. When they married each other
35 years ago, 4 times Peter’s age was the same as 5 times the age of Preeti. What is the
current sum of their ages?

Ans
x 1 105 T¥
105 years

X 2 110 9§
110 years

J&lliaﬁ'

115 years

11239
112 years

Q.19 .
Question ID : 9864493707

Status : Not Answered
Chosen Option : -
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arar war wfafde Tl

Problem Figure

4

Answer Figures

2330

From the given four figures choose the correct water image of the below figure:

Problem Figure

4

Answer Figures

2330

Ans ?.&(l'B
X2 A
Xs3C
VD

Q.20 fzamr s/r 92 =7 (Problem figure), f&T 17 3eax 2t (Answer figures) & &

. Question ID : 9864493957
fortlr veh  Efeafea faar a/m 31 &t 3cax =T (Answer figure) Hie @ 32

Status : Answered
Chosen Option : 2

Problem Figure

l\/]

Answer Figures

=N N b

D

A B

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

I\/]

EMININE
Ans X1

X 2D

v :B

<4 A

Q.21
Question ID : 9864493857

Status : Answered
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T a7 Reedl ¥ @ FIOT Ueg T TIF T

gfgar : et 9@ :
Select the related word from the given alternatives:

Wheel : Spokes :: Fan

Ans

ﬂ

r

Round
> 2
v 53

< a

THILE

Q22 2017 & R AR F onfier @ I Tger Afgew e FT &7
Who is the first female pilot to be inducted into the Indian Navy in 2017?

Question ID : 9864492184
Status : Answered

m m Chosen Option : 3

Ans

X1

Tessy Thomas

Shubhangi Swaroop
AT FHFT

> 4.
Dipa Karmakar

Q.23 T THAGHS #1 UF = 41 e § 3N gwaT dwa 720 @ HéwEET
2l =uF faruit fr FFEE & IET =T gE e

The length of one side of a rhombus is 41 em and its area is 720cm?. What is the sum of )
the lengths of its diagonals? Chosen Option : --

Question ID : 9864492655
Status : Not Answered

Ans
x . 82 WA

82 cm
90 FEHER
.9[) cm
v o 98 T
08 cm
80 HEHART

80 cm

p

X 4

* T HewT IEg H e Tl Hr {'@' grar %‘7( Question ID : 9864493042

Status : Answered
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) Friction

) HAT
Time

. ScdATH
Mass

4. ?Iﬁ

Speed

0, 1,

Ans ?('
?{
?{
v

Q25 feafafld 4@er H G A aTell el HEAT 3T

8, 27,7

Find the number which will complete the following series.

0.1.8,27.7

125
216
5125
: 64

Question ID : 9864493698
Status : Answered
Chosen Option : 4

Ans K
?{
?(
v

Q2 gfe 493 = 29 = 17 @ ar 493 = 0.0017 =2
If493 = 29 = 17, then4.93 = 0.0017 =2

1.290
2.0.29
3.2.9
+.2900

Question ID : 9864492880
Status : Answered
Chosen Option : 2

Ans

v

x

X

<L

Q.27 7 %ew - 7§ T 3% A s AF [FF & oEE Fi §, o uaed
T F T R - @ W st A A f gremagty 32

Who wrote the book ‘Two Fates — The Story of My Divorce’, which is a parody of Chetan
Bhagat’s ‘Two States — The Story of My Marriage™?

. ATHar @
Namita Gokhale
GG

2 -t

| Judy Balan

, =TS e
Swati Kaushal

, Ieufa
Arundhati Roy

Question ID : 9864492401
Status : Answered
Chosen Option : 4

Q.28

file:///sysroot/ho

|

Question 1D : 9864492845
Status : Answered
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& Eiehal T 8L Clehadl = AT
FAS 5 ;12 ¥ ETEH S Al F A e & W 7 ;15 F A
ofT| g AT T e ehel F WA FAT IS =2

In a bag containing red, green and pink tokens, the ratio of red to green tokens was 5 : 12
while the ratio of pink to red tokens was 7 : 15. What was the ratio of green to pink

tokens?

Ans (125 : 28
v236:7
<328 :25
Ka12 17

Q.29 Fiftaw FEfae #r FESAE 37T ¥ FAFT & 500w S Fia o @i

Question ID : 9864493487
The gas evolved when sodium carbonate reacts with hydrochloric acid is

Status : Answered

Ans K ) B'IE@?I?T Chosen Option : 4

Hydrogen

FollleT

Chlorine

?<33E§EETEﬁNEE
Hydrogen Chloride

W ST
Carbon dioxide

30 ST F o 3w e Hr TETT Faer g Question D : 9864493072

Status : Answered

X 2

Number of ¢ and m bonds in benzene, respectively, is:

Ans v 1233
12 and 3
xha3ﬁh3
3and 3
XﬂiﬁﬁhS

6 and 3
xpLgﬁh3

0 and 3

31 &
Q3 3y ardr wewar & A HT =T HT A Question ID : 9864492081
The people of the Indus Valley Civilisation worshipped . Status : Answered

Chosen Option : 4
Ans B;n:n;r
XKoo 2

Hanuman

.amﬂ
Kali
C AT
~ 3

Axmranena

% Download RRB Exams PDF E-BOOKS
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92

v R
Pashupati

32 azhar F BT R FT RS TSaT 29T £ ? Question ID : 9864493397

: : : Status : Not A d
What is the type of asexual reproduction in Amoeba? alus -Tot Answere

A Chosen Option : --
ne v SISTY] (F9R) TTS=T

Spore formation

W 2 ‘
 Binary fission

. FTatae FU-giE

x
Vegetative propagation
y
Budding

Q.33 ws #i= #, 7fe GREEN &I ITGGP for@r Sar & ar st &5 # PINK & &3

Rrgr sme=m?

If in a certain code, GREEN is written as ITGGP, then how will PINK be written as in the
same code? Chosen Option : 4

Ans XL TUMJ
# 2. KLON
# 3 RKQS
v+ RKPM

** 5329 @r mﬁ foraeT &7 Question ID : 9864492984

Status : Answered
The square root of 5329 is: Chosen Option : 4

Ans K’ 1. 97
~ 296
<394
v 73

Question ID : 9864494265
Status : Answered

Q.35 Tt fmredl & & i o1 #aw Ser 39T &, = 8,15 3 20 & Qo Renfamae

Find the smallest square number from among the given option which is divisible by each

Question ID : 9864492520

of 8,15 and 20. Status : Answered
Ans  of 1 3600 Chosen Option : 2
& 2. 6400
#< 314400
< 44900

36 102 .
Q36 10 > hr for di & farenfore fsam swar snfire anfés Swser 20 e & Question ID : 9864492522

By what number should 10§ be divided to obtain 20? Status : Answered
Chosen Option : 3
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K2 —
15

v

15

-6
4, —
~ 15

Q.37 SnCl, + 2HgCl, -+ Hg,Cl, + SnCl, Question ID : 9864493150

Status : Answered

mﬂﬂ'm ﬁ Chosen Option : 3
SnCl, + 2HgCl, - Hg,Cl, + SnCl,

In the given reaction:
Ans oy HgCl, 3TFHpd a1 SaT g1
HgCl, is oxidised
7> SnCl, HTFdpd gr AT 2|
SnCl, is oxidised
» , HeaCls HierdIohd 21 ST |
Hg,Cl, is oxidised
, SnCl =TT T AT 2
SnCl, is reduced

Q38 geprer TROIWUT F RIS de 30Ul Wil ¥ £7 Question ID : 9864493416

Status : Answered

X

‘What are the products formed during photosynthesis?

Ans Jlmﬁa,mﬁ?m

Glucose, Water and Oxygen
) IolhlaT 3N 3HTerToteT
| Glucose and Oxygen
X e 3 3iterdiare
Starch and Oxygen

X 4 T, Stel 3R 3iferedioter
Starch, Water and Oxygen

Chosen Option : 4

X

Q-39 10 & & TAW Fieium, TACE 9 # F3 &1 TF A, 10 QF TW
giaius O ST ST ¥ e ST GAwE wlay & sueEt gem

Two identical resistors, each of 10 £, are connected in parallel. This combination, in turn,
is connected to a third resistor of 10 Q. The equivalent resistance of the combination Chosen Option : 4
is_ .

Ans X' 1.30Q
K250
val5Q

y Download RRB Exams PDF E-BOOKS =i
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Status : Answered
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QA pfr - Fr s + ¥ + FHT +F x F AT -F g+ F T x & A 35-7 x
14+ 28 & FFa fovfla &1 .

Question ID : 9864494299
Status : Answered

If — means -, -+ means +, x means — and + means x, then determine the value of 35 -7 x i
14+ 28. Chosen Option :1
Ans o 1.19
X224
<315
<420
Q'41 Distribution of various Minerals in Human Body )
=" Question ID : 9864494251

5%
Potasium,

Status : Answered

."E‘Z:{um Chosen Option : 2

1%
Magnesium
um s ron = Potzum = Sodum

n
uCaichm = Magrass

Distribution of various minerals in the human body- A eiR & fafdee
fetem & faowor

Calcium- Ffeerma

Magnesium- #efErs

Iron- iigT

Potassium- St

Sodium- EfEaH

o e AT o F gfEt &A= T

ofy e =afe & ol & wfe=r & 1000 3wy (3asd sesan) &, &

Distribution of various Minerals in Human Body
Son

dim
"
%
Caleium
- a8 Sedun

Potasium,

1%
Magnesium
*nasgnesum % ko« Pou

The given graph shows the distribution of minerals in the human body.

Based on the given data, if a person has a total of 1000 IU of all the mentioned minerals in
his body, what is the units of calcium distributed in his body?

Ans XK1 300 IAWTSET FHEAT (IU)
X 2. 200 ITESET gHEar (IU)
v 3 400 IR AT (1U)
< 4. 500 3EASET T (IU)

Q.42 .
Question ID : 9864494028

Status : Answered
Chosen Option :1
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& & 7% A F F FA-VE TH
fafea

o
HEE. FEN F FNOT, F& THAI SR A A AL @ &

A
1. s v Hr FAwiar sgEe #

&l
Consider the given argument and decide which of the given assumptions is (are) implicit

in the argument.

Argument:

Due of IT recession, many software engineers lost their job.

Assumptions:

1. IT sector jobs are not secure.
2. IT sector companies lay off software engineers quite often.

Ans « Faer A 1 fafea g1

Only assumption 1is implicit.
Fao A 2 fafga 7
Only assumption 2 is implicit.
1 3t 2 2=t @fea &
Both 1 and 2 are implicit.

s 3R 2 o=t & @Afra a8 §

Neither 1 nor 2 is implicit.

> 2

> 3.

Q.43 ¢ st & v fadhy FFA & fow vfT & Fo aaud & 75 M g W
FHFEH F 4 BT AT 97 &= 9= ows o 3ue st o awe o
el e T 56 g Tl e # 58 Rheet TRy & g of?

undertake. However, he had to increase his stay by another 4 days and as a result his
average daily travel allowance went down by T 56. What was the amount that was
sanctioned to him in the beginning?

Ans 1. F 336
< 2 T 560
v 3 T 840
K 4 T 420

% 4000 &7 54% fHgaT g

54% of 4000 is:
Ans 1. 2025
X 22172
< 32232
v 42160

2. 3E.E et FAfATT FFAT AT ST B AST F T B

Samit was given some money to take care of his travel during a 6-day sales drive he had to

et Downl oad RRB ALP TECHNCTAN' Exam St udy Not es

Question ID : 9864492798
Status : Not Answered
Chosen Option : --

Question ID : 9864492846
Status : Answered
Chosen Option : 4

Q.45

file:///sysroot/ho
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P
R & @ P ¥ WET e S A

STRONG
Select the option that depicts the correct mirror image for the given word.

STRONG

Ans X 1 21KOMC
v 2 GNOJsTe
# 3 GNORTS
# 4 GNORTS

Q.46 Zr FEamstt 1 31T 15 1 11 §1 I 371 Fgea s WAETw13 §, & Heae A
FI

Two numbers are in the ratio of 15 : 11. If their H.C.F is 13. Find the numbers.

Ans  of 1195, 143
< 2,196, 143
/< 3.195, 141
< 4,105,142

Q7 e R M st i i s T FRr = a7 T
FiT AT FuT TATT F

EEGEH
1. o 60 =T &)
2. 38 ¥ 40% e F

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How many cows in a herd are black?
Statements:

1. There are in total 60 cows.
2. 40% of them are black.

Ans Jl.
AT 91T g F 3ol & F faw 1 3w 2 G v @y wAteT ¥, AfF @t
3Rer gt Jg F

Both statements taken together are sufficient to answer the question, but neither statement
alone is sufficient.

X 2
T =TT WO F 3oo} & & AT 1 3rhem watT ¥, SafR 2 sreem wateg s
gl

Statement 1 alone is sufficient but statement 2 alone is not sufficient to answer the
question.

< 3
T T Ued F 3co” & F 3T 1 3R 2 e v mry guieg =6 s wee
F I &= F v Haf=T =g v =g 2

Statements 1 and 2 together are not sufficient, and additional data is needed to answer the
question.

X a
T T 997 T 3o} 3o F TIT 2 30Fel TEIST &, i 1 3fehell 9ATcT @t
gl

Statement 2 olana ic cnffiniant but statamant 1 alana ic not cofficiant $n ancamae tha

TECHI\ﬁLf‘gT"KW Exam St udy Not es

Chosen Option : 2

Question ID : 9864492463
Status : Answered
Chosen Option : 1

Question ID : 9864494253
Status : Answered
Chosen Option : 1
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Ans T
v S

ZETO

r 9 2_3"

< 3

GG
three

X a4

Q48 1Y & e TRHAT] 3 A e & Harel goagiel I HEAT 8

The number of free electrons in the outermost shell of carbon atoms in diamond is:

Question ID : 9864493131
Status : Answered
Chosen Option :1

of Ram’s age. What is Ram’s current age?

Ans
x , 64 Iv
64 years

72 I

72 years
x - 80 el
80 years

v 77 EL]

77 years

X 2

Q.49 13 =% Tzer TA A 37 FA F 37 Fr AR h TS T &7 a¥ & g w=
#rm:maﬁrawa;g Zefl T #r FAEET 37 T 37

13 years ago Ram was twice as old as Sunny. Three years from now Sunny’s age will be %

Question ID : 9864492772
Status : Answered
Chosen Option : 2

Ans

1 3o o F
convex lens
x o, Hec o |
concave lens
Jedel g9uT
convex mirror
Haae guoT

concave mirror

X3

p

Q50 gfy forel GuRTcHe of@ 1 afda +2.0D ¥, o 7@ & §?

If the power of a corrective lens is +2.0D, then it is a:

Question ID : 9864493604
Status : Answered
Chosen Option :1

Q.51

Question ID : 9864493858
Status : Answered
Chosen Option :1
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SOH A &
afea T8

GEH
HEWT 3TeIE=ET o2aT oMl

HelHTA:

2

1. FET HATSIST AT o)
2. FEgT Heler=nsT i 2l

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
Alexander the Great was mortal.

Assumption:

1. Alexander the Great was human.
2. Alexander the Great is a Greek.

e 1 s 2 2 e #
Both 1 and 2 are implicit

) Faer arom 1 AT B
Only assumption 1 is implicit
. Faer arorm 2 AT &

Only assumption 2 is implicit

4_ma’r1m2ﬁ|‘%ﬁ%

Neither 1 nor 2 is implicit

v
nr
o

Q.52 717 31 - T T WA A #1 AR & O 9% & TE AN SaW
@1 TR §1 g Ty FE ganr swrar ama ¥ gt i gge W

This pass is in the Zaskar range of Jammu & Kashmir. The road route from Srinagar to
Leh goes through this pass. It has been created by the Indus River. Identify the pass.

Ans Ay &
W L
Zoji La Pass

»* 2. A
Mana Pass

| e
Niti Pass

| TgdreT &

Rohtang Pass

Question ID : 9864492100
Status : Answered
Chosen Option : 1

x
x

Q.53 ue dig Y 10 Hiex Hr F=r$ & Ao s | 77 S W ewud F a2 s Aerdr
SIS A% AT 30 AT § | S0 3 G, it FaAt H Tl Sicrid &1 a1 92

A ball is dropped from a height of 10 m. It strikes the ground and rebounds up to a height .
of 2.5 m. During the collision, the per cent loss in the kinetic energy is: Chosen Option : 4

Ans X 1.100%

S Download RRB Exams PDF E-BOOKS

Question ID : 9864493082
Status : Answered
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v 4 T75%

54 Erafafae P :
Q T F A o s FweT ¥ U A Question ID : 9864494003

Status : Not Answered

Hir F=T A FAT F g H #f0w afFd seve S

Chosen Option : --

Complete the following sentence with the most appropriate option.

Solar energy generates more power than wind energy.

Ans (l_mﬂa:aﬁ

sometimes
x o, T Crl
never
gHarr
| always
X 4 HFOT
often

X3

55 . ..
V% 37 R 1 FEE H, S e T @ wElea A R Question ID : 9864494281

Status : Answered

— o Chosen Option : 2
71 | ~.

1 2 3 4
Select the figure that does NOT belong in the following group.

71 <=
1 2 3
Ans 2('14

V23

x 31

<42

Q.56 far & ¥ former oRT 7 T odT US FIIT, FAN-ARRY T F oA 2017 fion ID - 9864492367
3 T B WA R Question ID :

‘Who among the following dedicated the Chenani-Nashri Tunnel — the longest road tunnel Status : Answered
in India — to the nation in April 2017? Chosen Option : 3

Ans

” wgary A3
Chandrababu Naidu
- YU HESAT
<2 2

Pranab Mukherjee
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™ & g
Narendra Modi
| 3 3rageaT

>~ 4
Omar Abdullah
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Q57 gEmg Wifgedr 3cWa 2017 & At fFw gy & & o2

The 2017 Brahmaputra Literary Festival was hosted by which city?
Ans oGS
.
Lucknow

SIcTeRTaT
Kolkata
fRremeT
| Shillong

¥ R

Guwahati

p )

X 3

Question ID : 9864492402
Status : Answered
Chosen Option : 3

Q.58 X wi¥as &1 A 3 Frenier @ § 3t f5y Asa 4 Pranfey 3ot #1 3
TEAT 1 X B A F AR dfow Ry & dm A gEeA g
2l

X walks 3 km towards west, and then turns and travels 4 km towards north. The shortest
distance between the start and the end point of X’s journey is

Ans mz_{
0 7
7 km
2 5 e
5 km
3. B
6 km
, 8 IETCIP=Irey

8 km

x

x

Question ID : 9864493916
Status : Answered
Chosen Option : 2

Q.59 v ¥ 375 HieT FFY TATHE Fr 27 FF H 9N FT o §l A = Ay
afa 70 fretefier ofay w2 g & 3o i @S = 32

A train crosses a 375 m long platform in 27 seconds. How long was the train if if was
travelling at the speed of 70 km/h?

Ans 1 525 #HeT
525 m

, 140 AT
140 m

, 160 #F;x
160 m

, 150 #rex

x

x

v

=y

Question ID : 9864492770
Status : Answered

Chosen Option : 3

&
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Q.60 gﬂﬂ_ _‘g. El-ﬂ?-l' m. ;naﬂ. ﬂm. ﬂﬁ %—9 Question ID : 9864493274

Status : Answered

Which of the following is NOT a noble gas? Chosen Option : 4

Ans ?{ . mﬂ.

Radon
Eaar)
| Krypton
X Sdle (Xenon)

Xenon

GEEIEC

Hydrogen

X2

v

Q.61 A 3k B @y fEemst g w1 #F 21 R & O & T &1 AR A 3R

T T i Question ID : 9864492909

HE FH FF AT FHA T AT §| TH FH B G0 F& A 25 B = F Sta.tus:NotAnswered
% B, A #r g F #F R @1 A BEEW T W A F e R Chosen Option : --
e smEr

A and B together can complete a task in 12 days. However, if A works alone, completes
half the job and leaves and then B works alone and completes the rest of the work, it takes
235 days in all to complete the work. If B is more efficient than A, how many days would it
have taken B to do the work by herself?

ans K118
X222
v 20
X415

Q62 Frg mmmr % fow TE=fafea & ¥ Fia I wWeOT F FRE A &2
Which of the following is NOT a pollinating agent for cross pollination?

Question ID : 9864493238
Status : Answered

Ans X1 el Chosen Option : 2

Water

" Animals

Plants

Q.63 el Fageler 1 T sfon 13 FEET § 31T 3@ v &0t 10 et § o su )
T A 1w Question 1D : 9864492715

The length of one side of a thombus is 13 cm and one of the diagonals is 10 cm. What is Status : Answered
the length of the other diagonal? Chosen Option : 2

Ans
v 24 T
24 cm
23 T

23¢cm

% Download RRB Exams PDF E-BOOKS
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X a4
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25 JeeT

25 cm
22 AcHTET
22 ¢cm

Ans

KL

v

X 3

X 4

Q.64 2016 # 2T TH & TETHT alell fATdNT TS & AU MeTe] & &
FHeT UCHN THTAT? 3HF YRSl 9 o HAT o a3ed & Hafedr sl 4

‘Who took over as the new chairman of the Tata Sons owned Vistara Airline in 2016? Prior
to this, he was the Managing Director of Titan for a long time. Chosen Option : 4

Question ID : 9864492355
Status : Answered

TG

Ramadurai

ATEDY AT
Bhaskar Bhatt
arRy A
Cyrus Mistry

T IgE

N Chandrashekaran

Q.65 = & 1% Ul HRpfT 1 &ae U A FAT FF T WHE 4T §H @
¥ wor A A ¥

Question ID : 9864493785
Status : Answered
Chosen Option : 4

1

IS

a

(o AN

7

DY

Use each of the below figures only once and form three groups. The three groups so
formed are:

1

AlS

a

| AN

7

A |7

DIOrQ

Ans X 1.
X 2
X 3
v

(1.3,9), (2,7,9), (6,4,8)
(1,3,9), (2,4,8), (6,7,9)
(1.3,9), (6,4,9), (2,7.8)
(1,3,9), (2,4,9), (6,7,8)

Q.66

Question ID : 9864494168
Status : Answered
Chosen Option : 4
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¥ % a9 B
e aede 1 FHEIT T ¥ AT (T §) F ¢
EEGEH
TFg AR vaE e a9 A8
st
1. 7AT fonddt & fagor & =8 &
2. 5% Er 1 aelid & 9T Jrgeal s Sfae # A9 aear @ifge)

Read the following statements and identify the logically correct conclusion from the given
information.

Statement:
Time and tide wait for none.

Conclusions:
1. Time is not in anyone’s control.

2. One has to keep moving in life forgetting the bad experiences of past.

"1 A2 T SR A E

Both conclusions 1 and 2 follow.

_ Aol S 2 AT T

Conclusion 2 follows.
> 3.
1 R 2 = & 3gERor 7 A
Neither conclusion 1 nor 2 follows.

, Ao fAsRy 1 FHFETOT AT B

Conclusion 1 follows.

67 : :
U rafaf@a Ry & Faa Beor FFIIGI‘\E g7 Question ID : 9864493686

Status : Answered

x

x

Chosen Option : 1

How many triangles are present in the below figure?

Ans X1 G
<28
<39
V510

Question ID : 9864494222
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Ans

Downl oad
tafaT e 7, mﬂ%ﬂ(?)?@mﬁmvmyﬂmmm
T ¥ T T Rient @ seiiug 3N & a0 H

Q 0O L H?

In the following series, one letter is missing as shown by the question mark (7). Select the

missing term from the given options.

Q.0,L,H,?
X 1D
<2 A
< 3B
viC

RRB ALP TECHNR

AN Exam Stugdy Notes

osen tion :

Ans

Q.69 o= & gde 37 16 a¥ ¥ S9fF Ik g 93 F 99A = 37 7 a¥ Bl frder auf &

g I &7 39 3EF T M F 37 HT 1.5 I 8 ARel?

Rathin is now 16 years old while his cousin is 7 years. After how many years will Rathin’s

age be 1.5 times that of his cousin?
K112
V211
X309
X410

Question ID : 9864492712
Status : Answered
Chosen Option : 3

Ans

Q.70 r=fafEa # & #ia-ar Sal 3 & Jr veey &, e fis st afsas

st enfAar i & 0

Which of the following is the third member of the Dobereiner triad, that also features
Lithium and Sodium?

v &% et
Potassium

;AT

Boron
CIEEpa]
Barium

| Hydrogen

X 3.

p

Question ID : 9864493173
Status : Answered
Chosen Option : 1

Ans

file:///sysroot/ho

Q.71

faegaafemt #r gfertusar frae 2 82

Insulators have resistivity of the order of:
| 10°em & 10°Qm
10°Qm to 10°Qm
, 10720m #1077 0m
107?0Om to 1077 m
, 107°Om ¥ 107°0m
107%0mto 10~°0Om

x

x

x

Question ID : 9864493345
Status : Answered
Chosen Option : 3
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Q.72

Ans

Q.73

Ans

Q.74

Ans

Q.75

file:///sysroot/ho
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1020m B 107 0m
102 0mto 107 0im

¥ &3

fordT e & w10 o=l o1 ek gilewm & tag wregre 15 o1 FAefe wew &
mefr 25 oTE T o qieT F e wredis 16.2 a7l FET F wef ot &
sitEa T ar?

The mean score in a test of the 10 boys in a class was 15 while the overall mean of the 25
students in the class was 16.2. What was the mean score of the girls?

X116.8
V217

X 3165
X 4175

for =1v = # 93 aiy Pt e &7 3cat &
gmor #, e A 7 fras 9 (T geeE T e quiTe) e S §7

et 3 e A

7o wew | wd | qRor @ | 9ReA | s
1 A 40 37 35 27
2 B 6 26 76 86

3 C 83 71 4 21

4 D 1 7 3 11

Read the given chart and answer the following question.

In south, what is the percentage of seats won by party A (round to one decimal)?

Parties and Seats won
Serial | Party | Sout |East | West | North
number h
1 A 40 37 35 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 1 7 3 11
< 1 30%
W 2. 30.8%
/< 3.30.5%
A4 31%

e AT T SUUT Tormd SIS del Hag 3T 1 3R IFT gidh &, 38 spar San g

A curved mirror where the reflecting surface is curved inwards is called a:
HIA guoT
concave mirror
HATH-Scdol gUuT
plano-convex mirror
THAA U0T
| plane mirror

Sl g

convex mirror

WL

< 2.

Question ID : 9864492658
Status : Not Answered
Chosen Option : --

Question ID : 9864493771
Status : Not Answered
Chosen Option : --

Question ID : 9864493363
Status : Answered
Chosen Option : 1
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TgT TS TR/ W AR 3ﬁ? FH YR 9 S4¢ & e
q‘q"mtrrrarﬁ # T Fi9 @A aeafated &7 Status : Answered
Chosen Option : 1

A/
AT T T EET TR ¥ v g f

TEUROTRE:

LY

1. Igradr &t 3FeTear F&r gl
2. NI T W 7 e oTed il TIET T &l

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

Warning: Consumption of alcohol is injurious to health.

Assumptions:
1. This warning is not required.

2. Non-aleoholic people are healthy.
Ans J 1.
T o qEUROT 1 AT & qEuRUT 2 Hedided &l

Neither 1 nor 2 is implicit.

% TEumor 1 sweafafea gl
Only assumption 1 is implicit.
% qaureT 2 seafafa 2

| Only assumption 2 is implicit.

Both 1 and 2 are implicit.

> 2

!

p
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